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O00E[(®)]=00000
¢(=1) = (1) = 0.5,¢(0) = 1 (8.108)
¢(m) =0,m # —1,0,1 (8.109)
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|H ()| = LIS Ja/4 (8.110)
0, [f| > fs/4

(a) z(n)00O 0200000

(b) z(n)00D0D0000000 P(w)0000f =0~ f,0000
oooon

(c) y(n)ODD g0000D0

(d) y(n)DDODODDODDOO0O0 Py(w)0000f=0~ f,0000
0ooooon

() y(n)OODO 200000

(f) 00000000 z(r)0 yn)DOOOODD0000
2
(o
000 =10logy, —2[dB] (8.111)

0z

2. z(n)0000¢2=1000000000002() 000000 H(z)
00000000000000000 y(r)00O00000000000

| H(e'”)P

0 f./2 fls

0820 H(»)OOUOOOODOO

(a) 2(n) 0000000000 P(w)0000f=0~f,0000
00000

(b) y(n)0OO yOO0D0D0DO

(¢) yn)0ODODODOOOOOO Py(w)O f=0~ f,000000
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(d) y(n)DOD 200000
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2
(o
000 =10logy, —2[dB] (8.112)

0z

H(:)0000000000000000 u(n) =x(n)+om) 0000
0000 y(n) =y(n)+y,(n)0000z(») 0000000000000
v(n) 0000 02=100000000y,(n)0 2(p)000000000
y(n)0 v(n)000000000000000000000

x(n) = cos(winT),ws =27 f1, f1 = fs/8 (8.113)

| H™)F

f./4 f./2

0821 H(:x)OOUOOOOOO

2z(n)000000000000000000 f=0~ f,000
0ooo

z(n)00000 P,O00O00O0

v(n) 0000000000 P(w)000O0f=0~f,0000
0oooo

y.(n) 00 000000H(*) 000000000

y.(n) 00000 P, 00000

y»(n) 0000000000 P, (w)O f=0~f,000000
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y(n) 00D o2, 00000
00000000000000000000 SNR, 00000
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P,

SNR;;, = 10log;y —[dB] (8.114)
0y
Pya:

SNRout =10 10%10 T[dB] (8115)
ag

Yv

00000000 H(z)0O00D0000000000000 u(n) = z(n)+
v(n) 00000000 y(n) =y:(n) +y,(n) 0000x(n) 00000
0000000w(r) 0000 02=100000000y,(n)0 z(n)O
00000000y, 0v(r)000000000000000000
ooo

x(n) = cos(w1nT) + cos(wenT) (8.116)
w; = 27Tfi7f1 = fs/87 f2 = fs/4
H(z)=05+z""'+05272 (8.117)

(a) z(n)000000D000000000000 f=0n~f,000
goodg

(b) z(n)0DOOD P,OO0DOO

(c) v»(n)000D0000000 P(w)0OO00f=0n~ f, 0000
ggood

(d) y.(m)OOOODO

(e) y(n)D0D000 P, 00000

(f) (n)0000000000 P, (w)00O00f=0~f0000
googad

(8) v (n)000 62 00000

(hy O0D0O0O0D0O0OD0O0OODO0OO0O0OO0OOO SNR;, DOOODO
00 SNR,,.,00000000O0ODOOO0ODODOO0ODOOO SNR
obd4dBOOOODOOO

Py
SNR;, = 10log,, —[dB] (8.118)
g,

2
v



8.5 oooaog 191

P,
SN Rou = 10log,q —5=[dB] (8.119)
ag

Yv

5. H(:)0O0DD0O0O0000000000 w(n) =z() +vkr) 0000
0000 y(n) =yz(n)+y,(n) 0000y, (n)0 z(n) 000000000
yo(n) 0 v(n) 00000000000 D2(n)0v(r) 000000000
0 P,(w)0P,(w)0000 H(>)0OODODODOOO0ODO00000000
ooooooono

| H(e")|

F(@)

714 R 7 J

0822 z(n)Jv(n) 0000000000 P(w)dPy(w)0000 H(z)DODOOO

z(n)000 6200000

v(n) 000 0200000

y.(n) 0000000000 P, (w)0 f=0~ f,000000
ooo

y»(n) 0000000000 P, (w)0 f=0~f,000000
ooo

y.(n) 000 02 00000

y(n)O00D0 o2 00000
00000000000000000000 SNR, 00000
00 SNR,,,00000000000000000000 SNR

o0dBOogooooog
2

SNRy, = 10logy, 2£[dB] (8.120)
g,

v
2

SN Ryws = 101l0g; 22 [dB] (8.121)

2
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8.6 g

8.6.1 O0O0OO0OOOOOOODOODOOO

g1d gbood
gboooboobobooboobobooobloeb0obOOoOobobOO0OnO
00000000000 z(n)0OO0ODO

o20 000000

x(n) 000000000000 00O0O0O0O0O 1/60000

p(z) =

&, +x=000000
(8.122)
0,

000000

/mprx=§jé:1 (8.123)
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z000000000000000000000O0000O000 8230000
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00000000000000000000000000000000 n0
000000000000 #(1),2(2),---,2(r)000000000r+100
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0«z(n+1)000000000000000000000000000000
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0000000 ABCODOOOOOOONODOOD ADBOOOODDO
0000000000000000000CO0000000000000000
0000 ABCOODO za(n),zp(n),zc(n)000000000000000
0000

060 ooo

6
me =Y p(r)z =35 (8.124)
r=1
gro good
5 91
Mgz = Z p(x)z? = ry (8.125)
r=—2.5
80 ug
6
17.5
2 _ —mg)? = 10 8.126
o= Yoo - ma)* = (8.126)
ERSIN] ggod
a m=20
¢z(m) = Elz(n)z(n —m)] = ¢ ° (8.127)
36 m 7é 0
giog 0OO0ooOd
175 =
Y2(m) = Bl(z(n)—mg)(z(n—m)—ms)] = {  ° (8.128)
0, m#0
8.6.2 UOOOUOOODOODOODO
000 z(n)D0O0O0O0OOO0ODOOOOODO
¢ (m) = Elz(n)x(n —m)] (8.129)
zn)O0 z(n—m)00000 8240000
0000000002 0 2(n—m),m#£000000000
o2, m=0
Gz(m) = (8.130)
0, m#0
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x(n-m)

x(n)
* ~~
~ | I{l l ]

0824 z(n)O z(n—m)00000O

Du(e) = Y fa(m)e ™ =07 (8.131)

m=—0o0

00000000000000000000 620000
gbobooboobooobooooboooobooboooboooobog m
oboooooboooooboobooooon

lim ¢y (m) — 0 (8.132)

m—0Q0

obooooo 820000

082 O0OO0OO0OOO0O0OOOOOOOOOOOO

oooobooooon

oo

D le(m)] < oo (8.133)

m=—0o0

O000000000¢(m)00000000O0O0ODOOOO0

O00z(n)02z(n—m)0000000000O00O0O0OOOOOOOO0OO
gboooobooboobooooboobobooooooobooooooooog
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2(t) = sin(2nt/Th) (8.134)
odob0oooooooooooooon
bu(7) = Tio /0 " (2t /Ty sin(2n(t — 7)/To)dt
_ 2%0 OTO lcos(2m7/To) — cos(2m(2t — 7)/To)|dt
_ %COS(27TT/T0) (8.135)

00000 ¢, (r)0 000000000000 (8133) 0000000

86.3 000000
010 000000
z1(n)0z2(n)0z3(n) 00000000000000000

xz(n) = z1(n) + z2(n) + xz3(n) (8.136)
goooooooonoad
Elz*(n)] = Bl(a1(n) + x2(n) + 23(n))’]
= Elzi(n)] + Elz3(n)] + Elz3(n)] + 2{E[x1(n)x2(n)]
+ Elz2(n)xs(n)] + E[zs(n)xi(n)]} (8.137)
zi(n) 0 2;(n),i#;0000000000000
Elzi(n)zj(n)] =0, i#] (8.138)
goooooooood
Elz(n)] = Ble3(n)] + Elsi(n)] + Elzi(n)] (5.139)

gbobooboooboboobooboobooboooboooobooboooog
oo
020 ooog
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zi(n) = a; sin(w;nT + ;) (8.140)

gboooooboooooooooon

CL2

Elzi(n)] = (8.141)
D0D000D000D000D00000000000000000000

1 27 2

o ﬁaﬁe:%- (8.142)

oobooboooboobooboboboon
z(n) = z1(n) + z2(n) + xz3(n) (8.143)
x(n) 0000000 (8137) 0000000000 O0ODOOO
Elz;(n)z;(n)] = Ela;a; sin(w;nT+;) sin(w;nT+1p;)] = 0,4 # 5(8.144)
0000000 (8139000000
g3 O0oooogn
00000000000 (8138 0000000000000O0O0O0OO0O0

0000000000000 00000000000021(n) 0 22(n) 000
oboooooboooooboobooooboooon

za(n) = x1(n) + x2(n) (8.145)
xp(n) = xa(n) (8.146)
z(n) = xqa(n) + xp(n) = z1(n) + 222(n) (8.147)

zq(n) 0 zp(n) 0 2,(n) 00 00000000000000000000O0O
00Oo0oo0o0o

Elz?(n)] = Elai(n)] + E[z5(n)] (8.148)

Elz;(n)] = E[z3(n)] (8.149)

Ela*(n)] = Elaf(n)] +4E[z3(n)] (8.150)
Doooo

Blz*(n)] = Ela(n)] + Elzj(n)] (8.151)
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